= O
N & o & AF &2 H Ml A
0124 2OIAh LBHS|H JIEFSESI N QXD ~ Y XIH D
VERER
0120l MABS X
YNBSS KR (e
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
20t 6,472,554 5,764,275 708,279
= 1,898,800
=l 410,000
| 350,000
= 3,813,754
o0l MUBS X 6,418,980 5,709,437 709,543
= 1,898,800
=l 410,000
| 350,000
= 3,760, 180
AMMEE X2 2,639,516 1,308,670 1,330,846
=2 333,800
=l 210,000
= 2,095,716
DEE O RREABUIXNA(22) 336,000 244,800 91,200
= 280,000
= 56,000
403 KX EHH SR 0| & 336,000 244,800 91,200
=2 280,000
= 56,000
01 XFXISHRIXHZ 2 % 336,000 244,800 91,200
ONEE NERBELZH X2 336,000
= 280,000
= 56,000
HDLMFSNDE FASDK(2D) 75,000 75,000 0
= 25,000
= 50,000
403 KX EHHI S K2 0| & 75,000 75,000 0
= 25,000
= 50,000
02 21 2SOl CHEHCH S AL B 75,000 75,000 0
O DFMAATVE AL DS 75,000
=2 25,000
= 50,000
OZMEOIE ARE MHEXS(2D) 28,800 36,000 AT,200
= 28,800
308 XX £HHI S 01 & 28,800 36,000 A7,200
= 28,800
01 HXISHBABES 28,800 36,000 A7,200
ONEHEIIS AIRE HEX 28,800
=2 28,800
01210l DIMOIF ALY Xl 1,490,508 697,190 793,318
202 01t 6,208 6,380 A172
01 =L 01 bl 6,208 6,380 A1T2
©012Ql DIMOIF AR =& 6,208




o4 XI 21 It
20l MNBE X|H
AMATE X & (S91:d2)
_ _ HE T
A BB C(3I0) - NIRAY - BaS O] Ak 4 Sl ko HRE2
307 QI2H0I & 15,000 20,000 A5,000
NEEEEET] 15,000 20,000 A5,000
OZ4BY SN 15,000
308 XHXIEHHI S 0| 1,469,300 544,810 924,490
01 RAISHALNSES 1,469,300 544,810 924,490
O0YE VAR LT X 1,353,600
oolgel A0S 02 H 89,000
O+ BEX B2 X 26,700
OETE SIS 2 HAIOY 245 454,008 255,680 198,328
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